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1 | 2xfg| 3.5 ]| S 16 56 40 16

2 = 2.53 ' Es 40 101 34 23 25 -7 26
3 | &M | 1.57 RYSOE 56 88 21 -9 6 32 -6 -4 48
3 | MEEEE | 1.57 RYNSOE 56 88 21 -9 6 32 -6 -4 48
5 | =E%| 1.56 I'E& 4 48 75 23 | 25 9 -1 -7 26
6 B5& | 1.47 BERgAS 88 129 -7 18 -8 21 | 31 17 | 21 -5 12 29
7 | P | 1.43 aflyeE 80 114 15 14 4 -5 29 8 1 28 4 16
7 | NEE | 1.43 B 80 114 15 14 4 -5 29 8 28 4 16
9 | FHHEE | 1.41 Re=1+1BA 80 113 14 16 | -25 -1 35 -3 10 54 9 4
9 |B&ExE| 141 RE 1 +1BA 80 113 14 16 | -25 | -1 35 -3 10 | 54 9 4
11 | #gfEK | 1.17 K (w=) 72 84 20 | 21 | 19 | 27 | 13 14 9 -9 12
11 | s | 1.17 B 72 84 -7 18 -8 21 3 21 -5 12 29
13 | ¥pFr- | 1.15 BRSET 80 92 -40 8 -4 15 5 33 | 49 9 7 10
13 | &3 | 1.15 I'E& 4 40 46 34 9 -6 3 6

15 | FEE | 1.11 IKiSiES 88 98 -40 14 -4 15 5 33 49 9 7 10
16 | ik | 1.08 RYNSOE 64 69 22 23 13 -7 -10 23 | 32 19
16 | #xi® | 1.08 RYNSOE 64 69 22 23 13 -7 -10 23 | 32 19
18 | ZEk | 1.06 pll= 80 85 2 24 18 1 7 -3 11 | 22 2
18 | R4t | 1.06 = 80 85 2 24 18 1 7 -3 11 | 22 2
20 EEN 1.03 BB 40 41 2 28 1 12 | 22
21 | {&/\ | 0.99 BERgAS 88 87 -6 9 19 | 19 | 59 14 6 -3 10 -2
22 | 3%k | 0.98 ARER 40 39 -2 18 32 17 | -26
22 | &B | 0.98 B 40 39 28 6 -3 10 -2
24 | BRANK | 0.94 RIS RA 64 60 -8 43 | -19 37 2 2 22 | -19
25 | #X&4N | 0.92 s 48 44 24 -9 29 -9 21 -12
26 | Exx | 0.88 HEg—RA 48 42 -18 | 20 0 5 -5 40




27 | B&x | 0.83 D BE 48 40 -14 -5 -5 31 27 6
28 R+ 0.78 T ML 40 31 -12 | 20 -6 16 13
28 | {IEE | 0.78 st |ES]ES 80 62 40 8 -23 | 28 -1 36 9 | -21 4
30 | KA | 0.77 BB 56 43 2 -9 28 1 27 | -12 6
31 | BxRRE | 0.71 £ 80 57 0 -9 -4 26 24 -9 29 -9 21 | -12
32 | T&EE | 0.7 F=IsnT 80 56 11 1 13 | -20 | 20 16 25 13 | 22 | -1
32 | B¥ 0.7 ST 80 56 11 1 13 | -20 | 20 16 25 13 | 22 | -1
32 | &/ME| 0.7 A =PA 80 56 15 | -17 4 35 | -10 | -20 | 10 45 -5 -1
35 | fREt | 0.69 EEHBA 48 33 -8 2 26 -31 7 37
36 | jt&EK | 0.66 AIE (HnET) 56 37 1| 21 8 27 | 17 20 | -13

37 | @@FEE | 0.65 TeamBA 40 26 0 -3 15 4 10

37 | A=A | 0.65 ARER 80 52 .15 | 21 15 20 | -24 | 10 -2 -5 32 0
39 | EE#E | 0.58 5B BA 24 14 9 -4 9

40 | B@ERl | 0.57 D BE 56 32 18 2 -5 25 | 30 | -10 | 22
41 | fRIER | 0.56 A1 RA 72 40 11 | -20 | -21 24 40 -1 17 15 -3
41 | 3K{EPE | 0.56 FAC1RA 72 40 11 | -20 | -21 24 40 -1 17 15 -3
43 | {REZE | 0.55 I'REE 64 35 13 9 13 | <17 | 11 27 5 0
44 | APEKKZ | 0.53 ~'“*_|3A 40 21 42 | 10 | 45 | -10 | 18
45 | BRESR | 0.51 I\ e 80 41 -12 20 -2 -6 -10 | -11 16 17 16 13
46 | PR | 0.44 RE 1+ 1BA 80 35 31 8 -9 2 3 | -14| -6 23 13 | -10
46 | tfPE | 0.44 REE1+1BA 80 35 31 8 -9 2 3 | -14| -6 23 13 | -10
46 | RBEF | 0.44 B 80 35 -2 -18 | 30 28 2 11 | -11 -6 -17 | 40
46 %4l 0.44 B 80 35 -2 -18 | 30 28 2 11 | -11 -6 -17 | 40
50 | fEAK | 0.41 LA 32 13 0 -9 -4 26

51 | {a</MF | 0.38 T$kBA 48 18 9 9 -15 | -5 11 9

52 | BR3E; | 0.31 HeR—BA 72 22 6 1 10 | -28 | 10 9 2 | -32 48
52 | 2f% | 0.31 IR EE 72 22 13 9 -13 | 30 | 11 27 5 0
54 EES 0.3 ERKBA 88 26 17 20 | -14 4 -1 62 -36 | -27 40 1
54 | k& | 0.3 B —PA 80 24 15 -8 7 -27 9 10 22 15 | -22 3




56 | #JI|¥F | 0.28 ERBA 80 22 -15 | 30 9 -4 -9 20 -1 | 30 | 33 | -11
57 BLrRAgs 0.25 ERKBA 64 16 20 | -14 4 -1 42 -36 40 1

57 | ®i¥t#h | 0.25 T NEBE 40 10 -2 -10 | -11 16 17

57 | 2% | 0.25 || 20 72 18 8 | -23 | 28 3 -1 | 36 9 | 21| -3
60 | /%<8 | 0.23 R IEBA 80 18 -15 | -8 43 | -19 4 0 20 | 41 | -48
61 | @it | 0.22 DB 32 7 -14 -5 -5 31

62 | EA# | 0.21 RERR 80 17 -20 5 -13 3 -9 -9 18 28 11 3

62 | 33z | 0.21 IRERR 80 17 -20 5 -13 3 -9 -9 18 28 11 3

64 |iBE% | 0.17 AYEERET) 48 8 17 10 14 | 20 | -13 | -40
65 | "&=E | 0.16 AYEERET) 96 15 20 13 19 | <11 | 13 | 10 | -1 9 -9 | -28
65 | E&hiE | 0.16 Hoe—PBA 80 13 7 -24 4 -16 | -18 | 20 0 5 -5 40
67 | 3 PR | 0.15 [ 40 6 3 5 1 20 | 17

68 | EEERK | 0.14 ZE—RA 56 8 14 | -14 | 13 1 -18 -9 21
69 | &y | 0.13 =]\ 40 5 27 | -5 18 25 | 44

69 | #g/\ | 0.13 I'E5 34 56 7 9 6 | -13 9 -1 3 6

71 | E@EZE | 0.1 T E&BA 40 4 16 -11 -15 30 -16
72 | BfER | 0.09 BERgAS 32 3 -6 9 -19 | 19

73 | {a4h4E | 0.08 JfER R 72 6 35 -9 4 8 -10 6 3 -32 1

73 | #AEIE | 0.08 BRiStE 80 6 9 6 -13 3 28 | 31 2 6 -6 -4
75 | 5B | 0.07 LLIERA 88 6 47 | -16 | 14 9 16 | 31| 21 | 20 | 11 | -13
75 | B | 0.07 LLIERA 88 6 47 | -16 | 14 9 16 | 31| 21 | 20 | 11 | -13
77 | B35 | 0.04 s _BA 72 3 12 11 -18 | -26 9 -4 9 -15 25
78 | 158 0.02 FHE=PBA 64 1 15 | -17 4 35 | -10 | -20 -5 -1
78 | EEEE | 0.02 EDETBE 56 1 18 2 -9 -5 25 | 30 | -10
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80 0 ARSHESIN 32 0 0

80 0 = _BA 32 0 0

80 0 A A2BA 32 0 0

80 0 RIYNERA 32 0 0

80 | FIEyt 0 BRSET 72 0 9 -13 3 -28 | 31 2 6 -6 -4
80 0 BXFHE 32 0 0

91 | B/t | -0.04 TeamBA 72 -3 -14 -4 16 5 -10 | -16 | 21 5 -6
91 || -0.04 TeamBA 72 -3 -14 -4 16 5 -10 | -16 | 21 5 -6
91 | Xl/hsg | -0.04 T ERBA 24 -1 15 | 30 | -16
94 | jE&EHE | -0.05 AN 40 -2 -9 10 -3 -5 5

95 | B¥EE | -0.08 ARER 80 -6 -15 | 21 15 20 -2 18 | 49 | -5 17 | -26
95 | RX¥= | -0.08 £TIRGEBA 48 -4 -9 -2 10 -3 -5 5

95 | [&Emf= | -0.08 FE—RA 48 -4 7 11 10 | -21 15 | -26

95 | fEY | -0.08 g —RA 64 -5 6 1 10 | -28 | 10 9 -2 -11

99 | FZF4X | -0.09 ERKBA 88 -8 2 30 9 -4 -9 -1 -57 33 -11
100 | ®%%FE | -0.14 FHa—PBA 56 -8 15 -8 -27 9 22 -22 3

101 | & | -0.15 ARSI 48 -7 -21 -5 15 -15 | 18 1

101 | XUIEE | -0.15 AN 48 -7 -21 -5 15 -15 | 18 1

103 | #%8% | -0.17 =R R 88 -15 35 | -23 3 -4 10 | 18 | -10 | -28 | -17 1

104 | {E4%%E | -0.18 ARER 72 -13 27 | -13 | 26 | -17 | -24 | 10 -2 32 0

104 | EE>C | -0.18 RN 72 -13 -25 0 213 | 45 | -12 | 14 -7 10 | -25
104 | Z%F | -0.18 JfER R 72 -13 35 -9 4 8 -10 6 3 -32 | -18
104 | zE{ | -0.18 RIYINERA 72 -13 29 | -6 21 | 21 37 2 2 -19
108 | f®%#d | -0.21 TeamBA 80 -17 31 | 26 | -10 | -3 15 | -18 4 12 10 | -22
109 | CREERE | -0.23 T E&BA 64 -15 9 9 -15 -5 16 -11 | -18

109 | == | -0.23 s 48 -11 12 11 | -18 | -26 -15 | 25
111 | F& | -0.25 AYEERET) 48 -12 -1 13 8 -11 20 | -1

111 | FRZF | -0.25 JSBEBA 72 -18 -21 5 29 5 -28 | -31 37 | -11 -3
113 | 184 | -0.26 =X 1peizE] 80 -21 -17 | -18 | 13 6 20 | 31 | -14 | -3 | -32 | 33




113 | #RE | -0.26 =X 1peizE] 80 -21 -17 | -18 | 13 6 20 | 31 | -14 | -3 | -32 | 33
113 | Bk | -0.26 2[NS 80 -21 -9 14 | -17 | 16 | -35 5 1 20 | 17 7
116 | EEE | -0.31 J={E[UN 72 -22 -8 2 26 9 | -31 | -33 7 -13 | 37
117 | B, | -0.35 5 E—PA 80 -28 14 | -14 | 13 11 1 8 | 21| 9 | 26 | 21
117 | =% | -0.35 E=YISERA 72 -25 14 | -6 21 | 21 4 0 20 19 | -48
119 | & | -0.38 T$kBA 64 -24 21 | 22 | 26 9 -12 3 -16 | -33
119 | p&E=RE | -0.38 N 24 -9 -24 25 -10

121 | EBEER | -0.39 JfER R 88 -34 35 | -23 3 -4 10 18 | -10 | -28 | -17 | -18
122 | BBF*¥ | -0.43 T MNEBE 80 -34 -4 17 -2 5 -8 -16 -4 -5 -30 13
122 | FBEX | -0.43 T MAEE 80 -34 -4 17 -2 5 -8 -16 -4 -5 -30 | 13
122 | B&EItER | -0.43 HeR—BA 56 -24 7 -24 4 -16 32 | -11 | 48
125 | EXJK | -0.44 IRER R 80 -35 1 17 7 | -16 | 15 | -20 | -14 | -17 | 13 -7
125 | 3KERy | -0.44 REAAR 80 -35 1 17 7 | -16 | 15 | -20 | -14 | -17 | 13 -7
125 | Bkl | -0.44 HR—PBA 80 -35 -47 0 213 | 45 | -12 | 14 -7 10 | -25
128 | #gHx | -0.45 ARSI 40 -18 -2 -15 12 4 -17

129 | =R | -0.46 R B 80 -37 0 -1 30 2 | 32| 11 | -27 | 13 | 26 | -29
129 | fEX= | -0.46 = 80 -37 0 -1 30 -2 -32 11 | -27 | -13 | 26 -29
131 | Ef%E | -0.5 ARSSHEIN 32 -16 -15 12 4 -17

132 | 7/\8§ | -0.55 T EKBA 80 -44 21 22 | 26 9 -12 3 -29 9 -16 | -33
133 | #AHXX | -0.56 LLIAZBA 72 -40 -8 -9 5 12 8 | 22| -2 5 -13
133 | =B | -0.56 LLIARBA 72 -40 -8 -9 5 12 8 | 22| -2 5 -13
135 | =¥ | -0.57 FE=PA 56 -32 -30 | 13 42 | -25 | 44 | -10 | 18
136 | @} | -0.63 TeamB)\ 24 -15 31 | 26 | -10

137 | BifE | -0.64 JSBEBA 56 -36 5 29 5 -28 | -31 -13 -3
138 | BRIJE | -0.66 PN 32 -21 -2 -10 | -12 3
139 | /A% | -0.75 ][ BVEVN 40 -30 8 17 20 | -21 | -54

139 | 3k&EH | -0.75 ][ BVEVN 40 -30 8 17 20 | -21 | -54

141 | &K | -0.78 FHE=PA 40 -31 27| -5 | -30 | 13 18

142 | F#EF | -0.88 TeamIZA 32 -28 0 -18 12 -22




143 | JEH# -0.9 FA1RA 48 -43 2 9 -4 -28 -1 -21
144 | 5kfE | -0.91 ARERR 32 -29 27 | 13 | -26 | -17

145 | FExR | -0.92 BXF4E 72 -66 -34 | 20 | -15 -6 -2 -10 | -12 | -10 3

146 | FR | -0.93 =]z 40 -37 -21 -9 -33 37 | -11

147 | =& | -0.94 R RA 48 -45 25 | -18 | -18 | -37 5 -2
148 | BT5iR -1 FIsnT 80 -80 -2 11 | 16 | 17 | 29 | 11 | 31 | -11 | -19 | 11
148 | KRR -1 FIsHT 80 -80 -2 11 | 16 | 17 | 29 | 11 | 31 | -11 | -19 | 11
150 | &f32i | -1.06 ARER 16 -17 49 | 32

151 | BBRRE | -1.09 BAFE 32 -35 34 | 20 | -15 | -6

152 |[Xfdans| -1.21 BEXF4E 72 -87 -13 | 30 | -10 | 28 | -24 25 | -21 -5 -37
153 | =EE | -1.38 s _BA 72 -99 4 -1 -30 | -28 | -15 | -37 5 1 2

153 | k= | -1.38 s _BA 72 -99 4 -1 -30 | -28 | -15 | -37 5 1 2

155 | REE | -1.4 FRCLBA 72 -101 2 17 | -43 2 9 4 | 28| -1 | -22
156 | EXpHLE | -1.47 =T 32 -47 -9 14 | -17 -35

157 | B3 | -1.57 BRFE 56 -88 -13 | -30 | -10 | 28 21 | -5 | -37
158 | \g7 | -1.78 R RN 72 -128 | -22 | -26 35 | 25 | -18 | -18 | -37 5 -2
159 | KEd | -2.42 FRAC1RA 24 -58 2 17 | -43

159 | 2FF | -2.42 A 2BA 24 -58 -35 -29 6

161 | {@E | -3.42 A 2RA 48 -164 -25 -9 -5 -44 | -33 | -48
162 | 2R | -3.57 2B 72 -257 | -35 -29 6 25 | -40 | -9 -45 | -40 | -40
163 | JBARSA | -3.75 A 2RA 64 -240 | -35 -26 | -28 | -45 -9 -5 -44 -48
164 | B3 | -3.81 R RA 16 -61 -26 -35

165 | Z=z48 | -4.26 2B 80 -341 | -35 26 | -28 | -45 | -40 | -9 -45 | -73 | -40




